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Medical Coding
Multiple Choice
Identify the choice that best completes the statement or answers the question.
1. Select the correct code for a personal history of cervical cancer
a. V164l
b. 1809
c. V1041
d. V1040
2. Which is the correct code for a liveborn infant delivered by cesarcan delivery in the hospital
a. V27.0
b. V30.01
c. V30
d. V436
3. Light-headedness after taking a diazoxide prescription
a. 780.4,E942.5
b. 386.9, E942.5
c. 780.09
d. 7804
4. Acute bulbar type I infantile paralysis
a. 045.0
b. 0459
c. 045.0]
d. 045.01
5. Lesions of the lateral and medial popliteal nerves
a. 3553
b. 355.3,355.4
c. 7243
d. 353.3,3534
___ 6. Abnormal coagulation profile
a. 79092
b. 286.9
c. 286.90
d. 776.0
7. Factor VIII deficiency
a. 2864
b. 286.0
c. 2862
d. 286.3
8. Burkitt’s tumor in the groin and the neck
a. 200.8
b. 200.25,200.21
c. 200.20
d. 200.28
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9. Recurrent manic-depressive disorder

a. 296.0
b. 296.1
c. 296.14
d. 296.10
__16. Senile dementia with confusion and depression
a. 290.0

b, 290.2,290.3
c. 290.3,290.21
d. 290.41,290.43

11. Screening test to rule out a suspected malignant neoplasm of the lung

a. V76.0
b. V74.1
c. V76.0,1629
d. 162.9,V76.0

12. Glaucoma and brittle type 11 diabetes
a. 250.00,365.44

b. 250.50

c. 250.50,365.44

d. 250.40

__13. Pregnant patient in the twentieth week of gestation experiences bleeding

a. 6409

b. 64090

c. 64095

d. 640.80

14. An infant is diagnosed with spina bifida and hydrocephalus, its spinal columnat C1 and C2 did not close
during fetal development

a. 741.00

b. 741.0]

c. 74191

d. 741.03

15, A 22 year old female has positive result from an HIV test; she is asymptomatic at present

a. 042

b. V73.39

c. V08

d. VOL7



Medical Coding
Answer Section

MULTIPLE CHOICE
1. C
2. B
3. A
4. C
5. B
6. A
7. B
8. D
9. D

10. C
1. A
12. C
13. B
14. B
15. C
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